



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-71027-698a006f73b7e**
Date : **February 09, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading Denver, CO
	Destination Country China	Destination Port Guangdong
	Export Date *****	Exporting Carrier *****
Consignee Stolle Machinery (Guangdong) CO., LTD 5 Xingye Fourteen Road Guangdong Industrial Park Chenco, Guangdong Shunde District Foshan China	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks Consignor reference: 507679;c298757,c298309	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	95.25	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	10.16	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	17.78	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	34.29	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	1.27	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	2.54	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	8.89	Mexico

Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
 The Applicant is authorized to give the undertakings set out herein.



Sandi Moilanen

Authorized Signature **Sandi Moilanen**



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN

ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-71027-698a006f73b7e**

Date : **February 09, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading Denver, CO
	Destination Country China	Destination Port Guangdong
	Export Date *****	Exporting Carrier *****
Consignee Stolle Machinery (Guangdong) CO., LTD 5 Xingye Fourteen Road Guangdong Industrial Park Chenco, Guangdong Shunde District Foshan China	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks Consignor reference: 507679;c298757,c298309	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	12.7	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	1.27	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	20.32	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	17.78	Mexico
CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT H.S.Code: 8482.50	10.16	Mexico
=====end of products=====	=====	=====

Name of Authorized Trade Association



Authorized Signature *Sandi Moilanen*

Sandi Moilanen

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 - The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
 -The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
 -The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
 -In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
 The Applicant is authorized to give the undertakings set out herein.



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

Bill To 536
 STOLLE MACHINERY (GUANGDONG) CO., LTD
 5 XINGYE FOURTEEN ROAD GUANGDONG
 INDUSTRIAL PARK, CHENCOA
 GUANGDONG
 SHUNDE DISTRICT
 FOSHAN, CHINA

Consignee 536
 STOLLE MACHINERY (GUANGDONG) CO., LTD
 5 XINGYE FOURTEEN ROAD GUANGDONG
 INDUSTRIAL PARK, CHENCOA
 GUANGDONG
 SHUNDE DISTRICT
 FOSHAN, CHINA

SHIPPING METHOD CONCORDIA INTL FORWARDING LTD
NUMBER PCS / WEIGHT 1.00 / 854.57 kg
B/L 1 crate 102x55x35

INCOTERMS Exwk Centennial CO Incoterms 2010
TERMS 60 Days Net
PRO NO 1884 lb
ITN

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
----------------------------------	---	--	--	-------------------	--------------------	--------------------	---------------------

C298757 29 3	G125227 770310 SEAL, SHAMBAN S-12547-433-2	3926904500 UNITED STATES	3.00 EA	19.08	57.23	0.045	0.14 kg
--------------------	--	-----------------------------	------------	-------	-------	-------	---------

C298757 29 2	G125227 770310 SEAL, SHAMBAN S-12547-433-2	3926904500 UNITED STATES	2.00 EA	19.08	38.15	0.045	0.09 kg
--------------------	--	-----------------------------	------------	-------	-------	-------	---------

C298757 29 1	G125227 770310 SEAL, SHAMBAN S-12547-433-2	3926904500 UNITED STATES	3.00 EA	19.08	57.23	0.045	0.14 kg
--------------------	--	-----------------------------	------------	-------	-------	-------	---------

C298309 11 1	G125081 095048 SEAL, PUSH ROD - PRIDE	3926904500 UNITED STATES	6.00 EA	12.17	73.03	0.001	0.00 kg
--------------------	---	-----------------------------	------------	-------	-------	-------	---------

Total HS Code - DOMESTIC 3926904500 14.00 225.64 0.37 kg

Total HS Code - FOREIGN 3926904500

Total HS Code - TOTAL 3926904500 14.00 225.64 0.37 kg

C298757 6 1	G125227 089653 ELEMENT, AIR FILTER - WATTS	3926909988 UNITED STATES	2.00 EA	51.51	103.02	0.318	0.64 kg
-------------------	--	-----------------------------	------------	-------	--------	-------	---------

Total HS Code - DOMESTIC 3926909988 2.00 103.02 0.64 kg

Total HS Code - FOREIGN 3926909988

Total HS Code - TOTAL 3926909988 2.00 103.02 0.64 kg



Stolle Machinery



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C297188	G124680	4010390000	1.00	336.72	336.72	9.072	9.07 kg
8	700370	UNITED STATES	EA				
1	BELT, POWERBAND 4C-195 GATES						

Total HS Code - DOMESTIC	4010390000	1.00		336.72			9.07 kg
Total HS Code - FOREIGN	4010390000						
Total HS Code - TOTAL	4010390000	1.00		336.72			9.07 kg

C298757	G125227	4016930000	3.00	1.91	5.72	0.001	0.00 kg
32	773716	CHINA	EA				
1	O-RING, NITRILE, .139WD X 4.609ID						

C298757	G125227	4016930000	3.00	2.86	8.59	0.007	0.02 kg
31	773715	CHINA	EA				
1	O-RING, NITRILE, .139WD X 6.984ID						

C298404	G125136	4016930000	2.00	13.36	26.71	0.136	0.27 kg
27	772161	UNITED STATES	EA				
1	SEAL, OIL, NITRILE, 3-1/2ID X 4-1/4OD X 7/16WD						

C296621	G124399	4016930000	2.00	81.14	162.27	0.050	0.10 kg
16	088073	UNITED STATES	EA				
1	SEAL, EATON AIR						

Total HS Code - DOMESTIC	4016930000	4.00		188.98			0.37 kg
Total HS Code - FOREIGN	4016930000	6.00		14.31			0.02 kg
Total HS Code - TOTAL	4016930000	10.00		203.30			0.40 kg

C295242	G123727	4016996000	20.00	72.49	1,449.84	0.091	1.81 kg
1	088217	UNITED STATES	EA				
1	SPRING, DOMER (SELL IN SETS OF 8)						

Total HS Code - DOMESTIC	4016996000	20.00		1,449.84			1.81 kg
Total HS Code - FOREIGN	4016996000						
Total HS Code - TOTAL	4016996000	20.00		1,449.84			1.81 kg

C298727	G125230	7307992000	1.00	6.36	6.36	0.091	0.09 kg
7	737930	CHINA	EA				
1	FITTING, WHD 7755-4-4-4						

C298727	G125230	7307992000	4.00	2.86	11.46	0.045	0.18 kg
7	737400	UNITED STATES	EA				
1	FITTING, COMP, STEEL, 1/4MPT, 1/4"						

Total HS Code - DOMESTIC	7307992000	4.00		11.46			0.18 kg
---------------------------------	-------------------	-------------	--	--------------	--	--	----------------



Stolle Machinery



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

Total HS Code - FOREIGN		7307992000	1.00		6.36		0.09 kg
Total HS Code - TOTAL		7307992000	5.00		17.82		0.27 kg
C298731	G125231	7318140000	100.00	0.17	16.80	0.001	0.10 kg
2	743620	CHINA	EA				
2	SCREW, 6-32X1/4 PH RND SELF TAP						
C298731	G125231	7318140000	100.00	0.17	16.80	0.001	0.10 kg
2	743620	CHINA	EA				
1	SCREW, 6-32X1/4 PH RND SELF TAP						
Total HS Code - DOMESTIC		7318140000					
Total HS Code - FOREIGN		7318140000	200.00		33.60		0.20 kg
Total HS Code - TOTAL		7318140000	200.00		33.60		0.20 kg
C298731	G125231	7318159000	100.00	0.12	11.76	0.004	0.36 kg
3	745690	UNITED STATES	EA				
1	BHCS, .250-28 X .500						
C297819	G124833	7318159000	312.00	0.48	149.39	0.005	1.42 kg
11	703052	CHINA	EA				
1	MSCR,PHH,PANH,6-32 X 3/8						
Total HS Code - DOMESTIC		7318159000	100.00		11.76		0.36 kg
Total HS Code - FOREIGN		7318159000	312.00		149.39		1.42 kg
Total HS Code - TOTAL		7318159000	412.00		161.15		1.78 kg
C298757	G125227	7318160000	10.00	1.91	19.07	0.005	0.05 kg
8	092678	UNITED STATES	EA				
1	NUT, REGUALTOR MOUNTING						
Total HS Code - DOMESTIC		7318160000	10.00		19.07		0.05 kg
Total HS Code - FOREIGN		7318160000					
Total HS Code - TOTAL		7318160000	10.00		19.07		0.05 kg
C298727	G125230	7318190000	5.00	1.91	9.53	0.014	0.07 kg
8	765090	UNITED STATES	EA				
1	PLUG, LINCOLN 12698						
Total HS Code - DOMESTIC		7318190000	5.00		9.53		0.07 kg
Total HS Code - FOREIGN		7318190000					
Total HS Code - TOTAL		7318190000	5.00		9.53		0.07 kg



Janice Meilum

DWTC-C00-71027-698a006f73b7e / February 09, 2026



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C298757	G125227	7318210000	2.00	0.95	1.90	0.005	0.01 kg
27	754640	TAIWAN CHINA	EA				
1	WASHER, LOCK W10						
C297819	G124833	7318210000	1.00	268.80	268.80	0.295	0.29 kg
2	303066	UNITED STATES	EA				
1	LOCKWASHER, BLANKET SHAFT						

Total HS Code - DOMESTIC	7318210000	1.00	268.80	0.29 kg
Total HS Code - FOREIGN	7318210000	2.00	1.90	0.01 kg
Total HS Code - TOTAL	7318210000	3.00	270.70	0.30 kg

C297822	G124835	7318220000	14.00	0.96	13.41	0.000	0.01 kg
16	753200	UNITED STATES	EA				
1	WASHER, FLAT, 1/4						

Total HS Code - DOMESTIC	7318220000	14.00	13.41	0.01 kg
Total HS Code - FOREIGN	7318220000			
Total HS Code - TOTAL	7318220000	14.00	13.41	0.01 kg

C298757	G125227	7318290000	1.00	16.22	16.22	0.363	0.36 kg
10	222010460	UNITED STATES	EA				
2	RING, INNER RACE TORR IR-283628						

C298757	G125227	7318290000	3.00	16.22	48.66	0.363	1.09 kg
10	222010460	UNITED STATES	EA				
1	RING, INNER RACE TORR IR-283628						

Total HS Code - DOMESTIC	7318290000	4.00	64.88	1.45 kg
Total HS Code - FOREIGN	7318290000			
Total HS Code - TOTAL	7318290000	4.00	64.88	1.45 kg

C298727	G125230	7318290090	3.00	0.48	1.44	0.001	0.00 kg
11	772080	UNITED STATES	EA				
2	RING, RETAINING 5100-75						

C298727	G125230	7318290090	21.00	0.48	10.05	0.001	0.02 kg
11	772080	UNITED STATES	EA				
1	RING, RETAINING 5100-75						

Total HS Code - DOMESTIC	7318290090	24.00	11.49	0.02 kg
Total HS Code - FOREIGN	7318290090			
Total HS Code - TOTAL	7318290090	24.00	11.49	0.02 kg



Janice Meilum



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C298310	G125082	7320205000	2.00	34.32	68.64	0.431	0.86 kg
28	755370	UNITED STATES	EA				
2	SPRING, DANLY YELLOW 9-3210-36						
C298310	G125082	7320205000	3.00	34.32	102.97	0.431	1.29 kg
28	755370	UNITED STATES	EA				
1	SPRING, DANLY YELLOW 9-3210-36						
C296625	G124400	7320205000	2.00	34.32	68.64	0.431	0.86 kg
20	755370	UNITED STATES	EA				
1	SPRING, DANLY YELLOW 9-3210-36						

Total HS Code - DOMESTIC	7320205000	7.00	240.26	3.02 kg
Total HS Code - FOREIGN	7320205000			
Total HS Code - TOTAL	7320205000	7.00	240.26	3.02 kg

C298727	G125230	7326190000	8.00	9.54	76.34	0.068	0.54 kg
10	766740	CHINA	EA				
1	BLOCK, LINCOLN ANCHOR 81583						

Total HS Code - DOMESTIC	7326190000		76.34	0.54 kg
Total HS Code - FOREIGN	7326190000	8.00		
Total HS Code - TOTAL	7326190000	8.00	76.34	0.54 kg

C297816	G124828	7326200000	7.00	0.96	6.70	0.008	0.05 kg
15	222059075	UNITED STATES	EA				
1	RING, KEY						

C297193	G124688	7326200000	1.00	0.96	0.96	0.008	0.01 kg
17	222059075	UNITED STATES	EA				
1	RING, KEY						

Total HS Code - DOMESTIC	7326200000	8.00	7.66	0.06 kg
Total HS Code - FOREIGN	7326200000			
Total HS Code - TOTAL	7326200000	8.00	7.66	0.06 kg

C298731	G125231	7326908630	2.00	0.96	1.92	0.004	0.01 kg
4	765380	UNITED STATES	EA				
1	CLIP, LINCOLN 64532-5						

Total HS Code - DOMESTIC	7326908630	2.00	1.92	0.01 kg
Total HS Code - FOREIGN	7326908630			
Total HS Code - TOTAL	7326908630	2.00	1.92	0.01 kg

Janice Meilum





Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C298731	G125231	7412200000	1.00	32.26	32.26	0.113	0.11 kg
1	739960	KOREA, REPUBLIC OF	EA				
1	FITTING, SWAGELOK B-QC4-B1-400K1						
C298727	G125230	7412200000	16.00	3.81	61.02	0.023	0.36 kg
1	700937	ITALY	EA				
1	ELBOW, 90 SWIVEL, 1/8MPT X 1/8T						
C298310	G125082	7412200000	13.00	7.63	99.15	0.091	1.18 kg
12	730003	NETHERLANDS	EA				
1	FITTING, SWAGELOK B-400-2-2						
C297822	G124835	7412200000	32.00	7.63	244.07	0.091	2.90 kg
1	730003	NETHERLANDS	EA				
1	FITTING, SWAGELOK B-400-2-2						
C293374	G122807	7412200000	27.00	9.60	259.20	0.034	0.92 kg
5	155336-025-00-0000	UNITED STATES	EA				
1	ELBOW, 90DEG. SYPHON						
Total HS Code - DOMESTIC		7412200000	27.00		259.20		0.92 kg
Total HS Code - FOREIGN		7412200000	62.00		436.50		4.56 kg
Total HS Code - TOTAL		7412200000	89.00		695.70		5.48 kg
C298727	G125230	7413009000	14.00	1.81	25.40	0.272	3.81 kg
4	715501	MEXICO	EA				
1	CLAMP, UNISTRUT PIPE P1112						
Total HS Code - DOMESTIC		7413009000					
Total HS Code - FOREIGN		7413009000	14.00		25.40		3.81 kg
Total HS Code - TOTAL		7413009000	14.00		25.40		3.81 kg
C297826	G124840	8205700090	1.00	3.81	3.81	0.038	0.04 kg
12	750290	CHINA	EA				
1	COLLAR, ID .5 HOLO-KROME 15014						
Total HS Code - DOMESTIC		8205700090					
Total HS Code - FOREIGN		8205700090	1.00		3.81		0.04 kg
Total HS Code - TOTAL		8205700090	1.00		3.81		0.04 kg
C297831	G124857	8412310040	3.00	445.46	1,336.38	0.454	1.36 kg
	309550	UNITED STATES	EA				
	ASSEMBLY, 24MRT TRIP ACTUATOR CYLINDER						
Total HS Code - DOMESTIC		8412310040	3.00		1,336.38		1.36 kg



Stolle Machinery
 Slip Sheet, Proforma Copy, Invoice, rpt - rev. 3000



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

Total HS Code - FOREIGN		8412310040					
Total HS Code - TOTAL		8412310040	3.00		1,336.38		1.36 kg
C296625	G124400	8412310080	2.00	69.64	139.27	0.249	0.50 kg
8	704160	UNITED STATES	EA				
1	AIR CYLINDER						
Total HS Code - DOMESTIC		8412310080	2.00		139.27		0.50 kg
Total HS Code - FOREIGN		8412310080					
Total HS Code - TOTAL		8412310080	2.00		139.27		0.50 kg
C298727	G125230	8413919520	1.00	116.37	116.37	0.431	0.43 kg
9	765710	UNITED STATES	EA				
1	INJECTOR, LINCOLN SL-42 83311-4						
Total HS Code - DOMESTIC		8413919520	1.00		116.37		0.43 kg
Total HS Code - FOREIGN		8413919520					
Total HS Code - TOTAL		8413919520	1.00		116.37		0.43 kg
C298757	G125227	8421990180	2.00	98.28	196.56	0.406	0.81 kg
16	222182026	UNITED STATES	EA				
1	ASSY, STRAINER CARTRIDGE - (ALTERNATE PART FOR 082420)						
Total HS Code - DOMESTIC		8421990180	2.00		196.56		0.81 kg
Total HS Code - FOREIGN		8421990180					
Total HS Code - TOTAL		8421990180	2.00		196.56		0.81 kg
C298757	G125227	8443913000	4.00	52.47	209.87	0.204	0.82 kg
15	222067767	UNITED STATES	EA				
1	BLADE, DOCTOR 8.500 GRAVURE						
C297818	G124829	8443913000	1.00	1,382.98	1,382.98	84.368	84.37 kg
10	302502	UNITED STATES	EA				
1	HUB, BLANKET WHEEL STL						
C297816	G124828	8443913000	3.00	826.06	2,478.19	0.499	1.50 kg
2	217073	UNITED STATES	EA				
1	BLADE FOUNTAIN GMI 500						
C297775	G124823	8443913000	4.00	632.43	2,529.71	2.926	11.70 kg
	210252	UNITED STATES	EA				
	CAM VIBRATOR						



Jan Li Meilum



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C297184	G124679	8443913000	2.00	315.24	630.47	0.045	0.09 kg
17	222176041	UNITED STATES	EA				
1	BLADE, IDLE 7.375						
C296621	G124399	8443913000	1.00	779.69	779.69	1.844	1.84 kg
31	222066620	UNITED STATES	EA				
1	MANIFOLD, BLOWOFF 36M, HYCOMP						
C296064	G124147	8443913000	1.00	864.22	864.22	3.311	3.31 kg
27	CD2-376-3	CZECH REPUBLIC	EA				
1	PIVOT ARM TRIP						
C295757	G123964	8443913000	2.00	635.28	1,270.57	2.654	5.31 kg
6	115000-125-00-0001	UNITED STATES	EA				
1	OSCILLATING THROWOFF BEARING ASSEMBLY						
C295411	G123809	8443913000	1.00	3,727.78	3,727.78	3.611	3.61 kg
5	222119082	UNITED STATES	EA				
1	GUIDE, CAN CLOSED END 204 ADJ DLC						
C295246	G123734	8443913000	5.00	135.45	677.25	0.340	1.70 kg
23	CMP-90-97	CZECH REPUBLIC	EA				
1	DUCTOR CAM						
Total HS Code - DOMESTIC		8443913000	18.00		13,009.25		109.24 kg
Total HS Code - FOREIGN		8443913000	6.00		1,541.47		5.01 kg
Total HS Code - TOTAL		8443913000	24.00		14,550.72		114.25 kg
C298757	G125227	8466208020	8.00	10.49	83.93	0.011	0.09 kg
23	706251	UNITED STATES	EA				
2	BALL PLUNGER, STNSTL .281DIAx1/2-13						
C298757	G125227	8466208020	16.00	10.49	167.87	0.011	0.18 kg
23	706251	UNITED STATES	EA				
1	BALL PLUNGER, STNSTL .281DIAx1/2-13						
Total HS Code - DOMESTIC		8466208020	24.00		251.80		0.28 kg
Total HS Code - FOREIGN		8466208020					
Total HS Code - TOTAL		8466208020	24.00		251.80		0.28 kg



Jan Li Meilum



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

**Commercial Invoice
 For Customs Clearance**

Invoice Number: 507679
 Date: 11/14/2025

C298757	G125227	8466940002	1.00	2,027.20	2,027.20	74.843	74.84 kg
9	140-0505	UNITED STATES	EA				
1	TEMPLATE, FOUNDATION MTG B6/B7						

Total HS Code - DOMESTIC	8466940002	1.00	2,027.20	74.84 kg
Total HS Code - FOREIGN	8466940002			
Total HS Code - TOTAL	8466940002	1.00	2,027.20	74.84 kg

C298757	G125227	8481100090	1.00	82.91	82.91	0.160	0.16 kg
4	086288	MEXICO	EA				
1	VALVE, RELIEF						

Total HS Code - DOMESTIC	8481100090			
Total HS Code - FOREIGN	8481100090	1.00	82.91	0.16 kg
Total HS Code - TOTAL	8481100090	1.00	82.91	0.16 kg

C298402	G125135	8481801095	1.00	25.33	25.33	0.091	0.09 kg
27	730051	UNITED STATES	EA				
1	FITTING, SWAGELOK B-QC4-SPK4						

C298310	G125082	8481801095	4.00	18.88	75.53	0.068	0.27 kg
22	739980	UNITED STATES	EA				
1	FITTING, SWAGELOK B-QC4-S-400K1						

C297822	G124835	8481801095	8.00	27.90	223.17	0.091	0.73 kg
6	730032	UNITED STATES	EA				
1	FITTING, SWAGELOK B-QC4-SPK2						

C297822	G124835	8481801095	8.00	18.88	151.07	0.050	0.40 kg
2	730007	UNITED STATES	EA				
1	FITTING, SWAGELOK B-QC4-S-400K3						

C297193	G124688	8481801095	1.00	23.85	23.85	0.091	0.09 kg
36	730031	UNITED STATES	EA				
1	FITTING, SWAGELOK B-QC4-SPK3						

C296064	G124147	8481801095	3.00	23.85	71.54	0.091	0.27 kg
6	730031	UNITED STATES	EA				
2	FITTING, SWAGELOK B-QC4-SPK3						

C296064	G124147	8481801095	2.00	23.85	47.70	0.091	0.18 kg
6	730031	UNITED STATES	EA				
	FITTING, SWAGELOK B-QC4-SPK3						

Total HS Code - DOMESTIC	8481801095	27.00	618.19	2.03 kg
Total HS Code - FOREIGN	8481801095			
Total HS Code - TOTAL	8481801095	27.00	618.19	2.03 kg



Stolle Machinery



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C298757	G125227	8481809015	1.00	310.15	310.15	0.560	0.56 kg
25	730048	UNITED STATES	EA				
2	SUB-ASSY, LIMIT VALVE (NKL PLT)						
C298757	G125227	8481809015	1.00	310.15	310.15	0.560	0.56 kg
25	730048	UNITED STATES	EA				
1	SUB-ASSY, LIMIT VALVE (NKL PLT)						

Total HS Code - DOMESTIC	8481809015	2.00	620.31	1.12 kg
Total HS Code - FOREIGN	8481809015			
Total HS Code - TOTAL	8481809015	2.00	620.31	1.12 kg

C298727	G125230	8481809040	1.00	143.09	143.09	0.635	0.64 kg
5	725081	UNITED STATES	EA				
1	HAND VALVE, 3 POSITION, 3/8 PORT						

Total HS Code - DOMESTIC	8481809040	1.00	143.09	0.64 kg
Total HS Code - FOREIGN	8481809040			
Total HS Code - TOTAL	8481809040	1.00	143.09	0.64 kg

C298757	G125227	8482400000	3.00	78.21	234.64	0.295	0.88 kg
20	700454	UNITED STATES	EA				
2	BEARING, HEAVY DUTY NEEDLE ROLLER						

C298757	G125227	8482400000	2.00	78.21	156.42	0.295	0.59 kg
20	700454	UNITED STATES	EA				
1	BEARING, HEAVY DUTY NEEDLE ROLLER						

C298757	G125227	8482400000	10.00	29.58	295.76	0.249	2.49 kg
19	700453	MEXICO	EA				
2	BEARING, HEAVY DUTY NEEDLE ROLLER						

C298757	G125227	8482400000	7.00	29.58	207.03	0.249	1.75 kg
19	700453	MEXICO	EA				
1	BEARING, HEAVY DUTY NEEDLE ROLLER						

C298757	G125227	8482400000	20.00	14.31	286.10	0.091	1.81 kg
	083400-100-0003	MEXICO	EA				
	NEEDLE ROLLER BEARING						

Total HS Code - DOMESTIC	8482400000	5.00	391.06	1.47 kg
Total HS Code - FOREIGN	8482400000	37.00	788.90	6.06 kg

John M. Nelson





Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

Total HS Code - TOTAL		8482400000	42.00		1,179.96		7.53 kg
C297831	G124857	8482500000	4.00	334.82	1,339.26	2.740	10.96 kg
4	222015877	MEXICO	EA				
2	CAM FOLLOWER, CROWNED						
C297831	G124857	8482500000	4.00	334.82	1,339.26	2.740	10.96 kg
4	222015877	MEXICO	EA				
1	CAM FOLLOWER, CROWNED						
C297184	G124679	8482500000	14.00	326.23	4,567.23	1.270	17.78 kg
15	222015881	MEXICO	EA				
2	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C297184	G124679	8482500000	8.00	326.23	2,609.85	1.270	10.16 kg
15	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C297183	G124678	8482500000	75.00	326.23	24,467.31	1.270	95.25 kg
1	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C296621	G124399	8482500000	7.00	326.23	2,283.62	1.270	8.89 kg
27	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C295408	G123808	8482500000	27.00	326.23	8,808.23	1.270	34.29 kg
1	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C294569	G123334	8482500000	2.00	310.70	621.39	1.270	2.54 kg
1	222015881	MEXICO	EA				
2	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C294569	G123334	8482500000	1.00	310.70	310.70	1.270	1.27 kg
1	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C293897	G123038	8482500000	8.00	310.70	2,485.57	1.270	10.16 kg
	222015881	MEXICO	EA				
	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						



Julia Morlan
 Supplier: ProQuamaCom Invoice pt -rev.3000

DWTC-C00-71027-698a006f73b7e/February 09, 2026



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C293897	G123038	8482500000	14.00	310.70	4,349.74	1.270	17.78 kg
1	222015881	MEXICO	EA				
4	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C293897	G123038	8482500000	16.00	310.70	4,971.14	1.270	20.32 kg
1	222015881	MEXICO	EA				
3	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C293897	G123038	8482500000	1.00	310.70	310.70	1.270	1.27 kg
1	222015881	MEXICO	EA				
2	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
C293897	G123038	8482500000	10.00	310.70	3,106.96	1.270	12.70 kg
1	222015881	MEXICO	EA				
1	CAM FOLLOWER, SUPP ARM ROTARY TRIP W/SHAFT						
Total HS Code - DOMESTIC		8482500000					
Total HS Code - FOREIGN		8482500000	191.00		61,570.95		254.34 kg
Total HS Code - TOTAL		8482500000	191.00		61,570.95		254.34 kg
C298757	G125227	8482800020	8.00	22.89	183.12	0.011	0.09 kg
35	QT450-720-00	UNITED STATES	EA				
1	BALL BUSHING						
C297829	G124856	8482800020	4.00	27.41	109.64	0.113	0.45 kg
1	000520	UNITED STATES	EA				
1	BEARING, SELF-ALIGNING						
Total HS Code - DOMESTIC		8482800020	12.00		292.76		0.54 kg
Total HS Code - FOREIGN		8482800020					
Total HS Code - TOTAL		8482800020	12.00		292.76		0.54 kg
C298757	G125227	8483200010	1.00	93.17	93.17	1.315	1.32 kg
5	086523	UNITED STATES	EA				
1	BEARING, PILLOW BLOCK 1 1/8 DIA						
Total HS Code - DOMESTIC		8483200010	1.00		93.17		1.32 kg
Total HS Code - FOREIGN		8483200010					
Total HS Code - TOTAL		8483200010	1.00		93.17		1.32 kg



Jan Li Moilan



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C298726	G125224	8483305040	1.00	3,439.80	3,439.80	43.545	43.54 kg
2	272083	UNITED STATES	EA				
1	SUB-ASSY, MAIN BEARING O/S						

Total HS Code - DOMESTIC	8483305040	1.00	3,439.80	43.54 kg
Total HS Code - FOREIGN	8483305040			
Total HS Code - TOTAL	8483305040	1.00	3,439.80	43.54 kg

C298757	G125227	8483308055	10.00	1.91	19.07	0.038	0.38 kg
22	701034	UNITED STATES	EA				
3	BEARING, BOSTON B1216-8						

C298757	G125227	8483308055	12.00	1.91	22.88	0.038	0.45 kg
22	701034	UNITED STATES	EA				
2	BEARING, BOSTON B1216-8						

C298757	G125227	8483308055	26.00	1.91	49.58	0.038	0.98 kg
22	701034	UNITED STATES	EA				
1	BEARING, BOSTON B1216-8						

Total HS Code - DOMESTIC	8483308055	48.00	91.53	1.80 kg
Total HS Code - FOREIGN	8483308055			
Total HS Code - TOTAL	8483308055	48.00	91.53	1.80 kg

C298727	G125230	8483308090	4.00	1.19	4.77	0.045	0.18 kg
2	702536	UNITED STATES	EA				
1	BEARING, BOSTON B1214-5						

Total HS Code - DOMESTIC	8483308090	4.00	4.77	0.18 kg
Total HS Code - FOREIGN	8483308090			
Total HS Code - TOTAL	8483308090	4.00	4.77	0.18 kg

C298660	G125199	8483404010	1.00	5,604.06	5,604.06	49.895	49.90 kg
1	700008522	UNITED STATES	EA				
1	INDEX BOX (150DEG CAM)						

C298397	G125134	8483404010	1.00	5,922.75	5,922.75	81.647	81.65 kg
38	706090	UNITED STATES	EA				
1	GEARBOX, HUB CITY, 1010 2:1 STYLE E						

C298395	G125133	8483404010	5.00	155.48	777.42	0.677	3.38 kg
	304278	UNITED STATES	EA				
	HUB, GEAR COUPLING, 1.125 MACHINING						



Janice Meilum



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

C297819	G124833	8483404010	8.00	184.10	1,472.82	0.748	5.99 kg
4	304279	UNITED STATES	EA				
1	HUB, GEAR COUPLING, 1.375 MACHINING						

Total HS Code - DOMESTIC	8483404010	15.00	13,777.05	140.91 kg
Total HS Code - FOREIGN	8483404010			
Total HS Code - TOTAL	8483404010	15.00	13,777.05	140.91 kg

C297829	G124856	8483608000	1.00	327.04	327.04	1.814	1.81 kg
5	075466-112-00-0001	UNITED STATES	EA				
1	COUPLING						

Total HS Code - DOMESTIC	8483608000	1.00	327.04	1.81 kg
Total HS Code - FOREIGN	8483608000			
Total HS Code - TOTAL	8483608000	1.00	327.04	1.81 kg

C297829	G124856	8483901000	1.00	163.11	163.11	0.907	0.91 kg
4	065300-034-00-0001	UNITED STATES	EA				
1	PULLEY, TIMING BELT (8mm)						

Total HS Code - DOMESTIC	8483901000	1.00	163.11	0.91 kg
Total HS Code - FOREIGN	8483901000			
Total HS Code - TOTAL	8483901000	1.00	163.11	0.91 kg

C297829	G124856	8483909500	1.00	18.13	18.13	0.386	0.39 kg
3	059600-118-00-0001	UNITED STATES	EA				
1	BUSHING, TAPER LOCK						

C297184	G124679	8483909500	2.00	188.89	377.78	1.043	2.09 kg
10	112950	UNITED STATES	EA				
1	SPACER, CON ROD BEARING, 1.25						

C295407	G123807	8483909500	3.00	188.89	566.67	1.043	3.13 kg
15	112950	UNITED STATES	EA				
1	SPACER, CON ROD BEARING, 1.25						

Total HS Code - DOMESTIC	8483909500	6.00	962.58	5.60 kg
Total HS Code - FOREIGN	8483909500			
Total HS Code - TOTAL	8483909500	6.00	962.58	5.60 kg

G125227	9603500000	5.00	96.00	480.00	0.136	0.68 kg
222300755	UNITED STATES	EA				

Sanli Moller





Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
 For Customs Clearance

Invoice Number: 507679
 Date: 11/14/2025

1	BRUSH, INFEED 2"W X 8"L X 1"THK (.008)							
C298757	G125227	9603500000	6.00	92.40	554.40	0.023	0.14 kg	
17	222309754	UNITED STATES	EA					
1	BRUSH, INFEED 2"W X 2"L X 1"THK (.008)							
Total HS Code - DOMESTIC		9603500000	11.00		1,034.40		0.82 kg	
Total HS Code - FOREIGN		9603500000						
Total HS Code - TOTAL		9603500000	11.00		1,034.40		0.82 kg	
Grand Total:					106,991.16		685.12 kg	

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
CRATE	55.00	102.00	35.00	in	0.00	854.57	kg
Total					0.00	854.57	kg



 Signature

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited.
 ***PRODUCT IS SOLD IN USD AND PAID IN US CURRENCY*

ACCEPTANCE. This order is subject to acceptance by Stolle Machinery Company, LC ("Seller"). Acceptance is conditional upon all terms and conditions stated on the face and reverse sides of this document. The Purchaser's assent to these terms and conditions shall be conclusively presumed: (a) if the Purchaser's retains this Acknowledgment without objection for ten (10) days after receipt, or (b) if the Purchaser accepts all or any part of the goods.

The Seller expressly rejects any terms or conditions proposed by the Purchaser that differ from or add to those stated herein. Once accepted, this order may only be modified in writing, signed by the Seller.



Jan Li Moilanen